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tfol1]1|1]/o|0|0|2|3|8|dimE dtiEE R |HLOOELR EENE 10,082,185 i REMED [ 4| EUEFIBEARESEME M 4 F A~%H 5 & ( 1248) 1,693,800
2(0|1|1]1/0|0]0|2|3|8|dimE itimE oEER | HLOOELR TEERRARTX B 7,080,699 i =32 2.1%|- M 4 = A~ 5 & ¢ 12458) 1,784,328
3lo0|1]|1]|1]|o|ojo|2|3|8|diEE imE  (HEER (HLoof£E EHAR 13086| 4% RaRL | 2.1%|- Sf 4 F 4 A~%F 5 & ( 12 47R) 3,288
4(0[1|1]1]|0[0|0|7|7|4|dtiEE itiEiE FEER  |FUAIHLOD EENE 3,096,676 HEAE FEMN D | 4% EUAFMIBARESFME ST 4 & A~%% 5 & (1248 520,236
s|o[1]2|1]0[0j0|8|6|3|dmE |dmE |FEEH [EESLSHLOD AOE R (REAR 3500497 % | BOEMMI | 1o%|[EHEPIMARESME S 4 F 4 A~dR 5 & ( 1278) 798,108
6(0[1|1]1]/0[0|0|4]|2|8|dtimE dtimE HEEN  |ShHL0%E EENE 9,999,109 i FEMN D | 4% EUAFMIBARESFME ST 4 & A~%%f 5 & ( 12 48) 1,679,844
710/ 1| 1[1]|0|0|0|4|2|8|dimE dtimE FEER | AhHLO5E BN 3 6,172,920 i =32 2.1%|- A 4 F A~®f 5 # (12 78) 1,555,572
8{0|1|1/1/0|0]0|2|8|7|diEE itimE FEER | AhHL05E SEHIART 257,096 fitod RSl 2.1%|- A 4 F A~®f 5 # (12 78) 64,788
9[0|1|1/1/0|0|0|4|3|6|diEE itimE FEEH  |AOYDIE HEREXEBE 7,914,201 R WEMF D | 1.7%|BUFEMIBARESME M 4 & A~%% 5 & ( 12 48) 1,614,492
10{0[1]2|1|0]ofo|2|9|3|dtimE |dmE |FEEH |XELos—CTHT AOEEER (REAR 5125207 M | WEMEI | 1ou[EuEMBARESME $M 4 % 4 A~%F 5 & ( 1258 | 1168560
1 - s #£  A~%F & ( 7 B)
12 - s #£  A~%F & ( 7 B)
13 - s #£  A~%F & ( 7 B)
14 - s #£  A~%F & ( 7 B)
15 - s #£  A~%F & ( 7 B)
16 - s #£  A~%F & ( 7 H)
17 - S F&  B~%W & ( 7 H)
18 - S F&  B~%W & ( 7 H)
19 - M F&  BA~%W & ( 7 H)
20 - S F&  B~%W & ( 7 H)




